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4.1

[2]

4.2

[2]

LPC

(FFT : Fast Fourier Transform)
(DFT : Discrete Fourier Transform)

N-1 —jﬁkn
X =Y x(ne N (k=012,...,N-1)
n=0
FFT
(dB)
5
ms
2
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[3] x(n) LPC

X(n) =—a@)x(n-Y -a3x(n-2)—...—a(p+DHx(n— p)

e(n) = x(n) — x(n)
LPC

a(i) (i=0,1,...p)
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5.1

(dB)
P (PL P2 P3)
F1 500 1700[Hz], F2 1700 2600[Hz], F3 2600 3800[HZz]

[1]

s(n) FFT S(k)
1700 2 2600 2 3800 2
P1= Y |S(k)|", P2= ) |S(k)", P3= > |S(K)|
k=500 k=1700 k=2600
3
5-1 F1
F2 F3
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6.1

1 1
P(x|c) = WGXP{—E(X—/JC)TZ_l(X— :uc)}
[5] c M z
X P(c|x)

P(x|c) P(c)

C

P(c|x) = -
> P(x|c) P(c)

P(c)

(4 2)

-14 -

COY

(4 2)

P(clx)



7.1

PC
CPU : Pentium4 2.40GHz

RAM : 1.00GB
Microphone :

Windows XP Professional SP1
Mathworks Matlab 7.0
Matlab Signal Processing Toolbox

7.2 Matlab
Matlab

Laboratory

M-
MATLAB
Signal Processing Toolbox

M-

7.3

6 15

7-1
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P1(500 1700)

P2(1700 2600)

P S

i

o = N oD e OO -
i

w

o

P1(500 1700) : ; T~ an =
g o P3(2600 3800)
=]
4.5

=]
25
: I

= | H”
| ” |\|| |

P2(1700 2600) *

[=11]

|
0 P3(2600 3800)

7-1 ( )
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-17 -

7-1 € )
P1(500 1700) 61.87192 | 4357114 | 48.74451 | 57.81723 59.89041921
P2(1700 2600) 39.98619 | 46.01394 | 39.42635| 51.1526 30.49964499
P3(2600 3800) 46.43378 | 5097281 | 38.1217 | 49.57875 3757610539
7-2 ( )
6.259034 | 1.633867 | 3.449736 7.866782 | 7.5354 4.964263
1.633867 | 17.65661 | 12.61077 7.5354 39.67328 | 19.47299
3.449736 | 12.61077 | 28.42607 4.964263 | 19.47299 | 30.47402
22.36154 | 23.11829 | 23.33349 13.04614 | 0.648588 | -2.11829
23.11829 | 46.34095 | 33.65148 0.648588 | 15.55112 | 18.7635
23.33349 | 33.65148 | 36.06944 -2.11829 | 18.7635 | 27.71303
9.006189 | 4.527465 | 1.861255
4.527465 | 12.78709 | 12.14324
1.861255 | 12.14324 | 23.19746




PREE00--3300[Hz )
I
_

P201700~-2600[H=1}

a0

7-2

35
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40

g5 90

P1(500~-1700[Hz])
)

kil

&0

65
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7-3 ( )

1 718.2567 | 338.3668 | 326.102 | 502.1525 | 496.5076

2 1145.933 | 2127.895 | 1435103 | 1965.29 | 859.1324

3 2775595 | 3036.409 | 2511.022 | 2803.668 | 2754.794

4 3758458 | 3696.105 | 3400.181 | 3739.303 | 3476.7
7-4 ( )
15670.74 | 6767.29 | 4067.857 | 7468.309 6744543 | 263527 | 42340.44 | 60487.96

6767.29 | 60065.23 | 12063.95 | 30539.86 26352.7 | 2712654 | 139560.5 | 119058.2
4067.857 | 1206395 | 1795841 | 15392.01 4234044 | 1395605 | 112563.6 | 103060.8
7468309 | 30539.86 | 15392.01 | 88281.24 60487.96 | 119058.2 | 103060.8 | 136623.5
6653.701 | 7389.727 | 4775589 | 14191.75 9099.147 | 315885 | 3370.907 | 1138.003
7389.727 | 5753349 | 41131.21| 71858 3158.85 | 23338.39 | 1670251 | 16757.56
4775589 | 4113121 | 85229.66 | 70196.81 3370907 | 16702.51 | 2247156 | 16608.3
14191.75| 71858 | 70196.81 | 167738.8 1138.003 | 16757.56 | 16608.3 | 37356.98
12981.08 | 10578.69 | 5394.052 | 6380.789
10578.69 | 2343328 | 737352 | 14659.36
5394052 | 737352 | 92184.87 | 55779.99
6380.789 | 14659.36 | 55779.99 | 134165.6
7-4
7-2
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7.4

(

15

7-5)

90
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P21 700M2E00[H:])

PaA00M3B00[He])

P3{2600M3E00[H: )
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F1 001 700[H=1»
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400 A00
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4 44
a0 &0 Y00 =0 g0 400 B
400 400
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100
T
400
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200
100 =2
T
7-6 ( )
7.5
6-5
90 ( ) 90
90
72 18
72/90
7-5 ( )
72 0 2 1 15 0.800

87 2 1 0 0.967

6| 76 7 1 0.844

0 3| 86 0 0.956

gl |O | O

0 0 0| 85 0.944

0.902
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7-6

83 0 5 0 2 0.922
0| 80 8 0 2 0.889
0 2| 87 0 1 0.967
0 1 3| 86 0 0.956
1 0 8 0| 81 0.900
0.927
7.6
7-5 7-6 7-5 7-6
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[1]
14

[2]

5

[3]
IT Text

[4]

4
[5]
6

[6]http://www.hanlab.ee.kagu.tus.ac.jp/~norimatu/research5.html

[7]http://www.catnet.ne.jp/triceps/cdr/sample/cd002.pdf

[8tp:/iwww.phon.ucl.ac.uk/courses/spsci/matlab/lect10.html
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